Trigger TDR June 2017 ¢ onucanuem 6appesst: “The active area of BD has radius of 45 mm and length
of 150 mm and it consists of 40 strips 150x7x7 mm3 (2%3.141592*45=282.74 mm). In BD prototype used
in BM@N run March 2017 only 28 channels were active and sent pulses to TOU module.”

Sergey Sedykh 28-JAN-2021: BC1 70x70x5 -4040; T0 12x100x4, 45° -1550; BC2 D20x0.8, 45° -1335; VC

D100x10, hole D27 -1040.

/nica/mpd19/ystepan/run6 data/run6digi/bmn_runl850 sigemdigitthr2 trigzdc.root.

4.0Cu: 1586, 1587, 1588, 1589

4.5C: 1850 TRIGGER: 461 entries BC1: 624 fMod==-1, 1.e. BC1 cpabarbisaer B 0.3% cobbITuii.
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Puc. 1: Cuea - run 1586 4.0 GeV/c Cu, cupasa - 1850 4.5 GeV /¢ C. 0,=58 ps, A;=200 ps.


http://bmnshift.jinr.ru/wiki/lib/exe/fetch.php?media=tdr_v2_trigger-t0_system.pdf

4000

5000f M raw.0=148 ps ; \ S ———
C V}/ L\ —— corrected 6=60 ps 3500~ — corrected G=58 ps
4000~ j \ 3000F f \\
3000- 2500 [}
- )’ 2000, A .
1000~ “ L 1000 ; ff’“,j 1\ "}}1
- M/"' T’M\\ 5007 L -
0504030201 0 010203 04 05 Q504030201 0 0102 03 04 05
tace o (ns) taea =t (ns)

Puc. 2: 1586 4.0 GeV /¢ Cu, 1850 4.5 GeV/c C. At BC2 u T0 6e3 u ¢ aMITUTYIHOI OIPABKONH BPEMEHH.
[Ipumensitach oauHaKoBasl IOIpaBKa, IMOJayUeHHas B pane 1850.
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Puc. 3: 1586 4.0 GeV/c Cu, 1850 4.5 GeV/c C. BD: fTime vs fAmp.
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Puc. 4: 1586 4.0 GeV /¢ Cu. Cuea - Bpems vs ammurya i xutos BD, koryia Homep crpunia B cOObITHM
re nosTopsercs. Crpasa - aMIUTUTY/Ia BTOPOrO VS aMILIATY/Ia [IEPBOTO XUTa B COOBITHH.



